g a a a 3 Multiplicagdo de polindomios

Nome: Encontro: Data: Pontuagio:
2x* = T(x— 1) (2% + 8)(2x — 1)
(9 — 5x)(4x +2) (8x — 7)(2x* + 2x + 2)
(6— 32 (8x — 3) (6x* + 1)(3x + 1)
(9x — 9)(8x* + 4x + 4) (6x + 3)(9x* + 3x + 3)
(5% + Tx + T)(x + 7) (532 (3x +8)
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Nome:
(2 = T)(x— 1)

262 =2 —Tx+7

(9 — 5x)(4x + 2)
—20x” + 26x + 18

(6— 3x”) (8x — 3)
24 + 9% + 48x — 18

(9x — 9)(8x% + 4x + 4)
72 — 36x% — 36

(5% + Tx+ ) x + 7)
5% + 42x% + 56x + 49

Encontro: Data: Pontuagao:

2%+ 8)(2x— 1)
4 — 2% + 16x— 8

(8x — 7)(2x* + 2x + 2)
16x° + 2% + 2x — 14

62+ D(Bx+ 1)
18> + 6x2 +3x+ 1

(6x + 3)(9%° + 3x + 3)
54x3 + 45x% +27x+ 9

(5— 32 (3x+8)
—0x® — 245 + 15x + 40
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